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SECTION 07 gd& MZEAY(CNN)

7.2.4 AER2IO|E (stride 0| & =)

IIM

TE| S M8} 9X|O| A Assto|c,, 2t ST}
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SECTION 07 gd& MZEAY(CNN)
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' -SECTION 07 ed& MZAU(CNN)

rdEEY A

ot

7.4

o
ol

ro

Teiot7|

MHE

7.4.1 Axt3 HiE

0N 2F e 2 cNNOM A S AO| & = 2= H|O|E = 4kt O|Ct

0|2 mo|M o2 1&{slm LS 1} ZC}

33y % = np,random,rand(18 1 28 28) # P32 Clojs 44

) n.shape
{1EF1JEE;EBJ

oy x[8].shape & (1 EEL 28)
»uwy %[1].shape # (1 2B 28)

) H[e, 8] # &= x(e][o]




' SECTION 07 gt .*_|7c:>“3>"(CNN) e chO07/im2coltest.py

svs . path . appendl(os . pardir)

Imeort numpy as np e
742 |m2COIE |:-”O|E.| XI_-|7H'5|.7| from common.util import im2col e
aa=np.arange(48) reshape(?,2,6.2) - ’
O|H HO| M= for = L4l im2colO| 2= HC (
St=E A2 9| ZHESHA FLod sl 2 ZICH bb=imZcol(aa,1,1) 7
)
##F aa
. arrav( [[[ICO (), »>> hh 3
I8 T-1T (ch=rsen im2cols] 2 ? 3%, arr‘ay([% 0., 12 %
4, H], . 13,1,
[ B, 7], [ 7. 147,
[ B, 4], [ 3., 15.].
imZeal (10, 1117, [ 4., 16.]1,
[ 5., 17.1.
_— (12 3. [ 6 187
[T, 157, [ 7..19.].
EHS, 1?%, % q.. ED.%,
18, 19]. ., 21.],
4 (20, 211 1o 22,1
2|8 folg (22, 23117, [11., 23.%,
~— 4., 361,
I 7-18 HE HE =S QoM SM0E 1S2 B (55, 37.].
— [[IED. 25]. [26.. 38.],
P ‘\\ (6. 27]. [27.. 39.],
e EEB, 29%, %ZB . 40.%,
30, 311, 2., 41.7,
A e (32 331 (30 42,7
I [34, 3511, %31., 43.%,
I 32, 44,1,
, ' (@GR, 371, [33.. 45.],
[38. 39]. [(34., 46.],
(40, 417, [35., 47.1]1)
(42, 437,
(44, 45]

[46. 471711)
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' -SECTION 07 g &= MZAL(CNN)

7.4.2 im2col 2 H|0|E M7{st7|

x1=np.arange(48) . reshape(1,3.4,4)

O|H HO| M= for 2 CHAl im2colO| 2= TO coll=im2col(x1,1,1]
St=E A8l ZHEHSHA| Lo 2 ZUC}
=33y =xx ocoll
array([[[ 1, 2, 3l. array( [[V0., 16, 32.],
8 7-17 (ofepssp)) imacole) S %aﬁ 310 1Hﬁ H 8 37
[12, 13, 14, 1511, [ 3..19.. 35.1,
[ 4., 20., 36.],
CL1 17, 14, 15%, [ 5., 21., 37.],
) o, 21, 22, 23
—_— . . . . [ 6., 22., 38.],
(24, 25, 26, 27]. [ 7.. 23., 39.],
— [28, 23, 30, 311], [ 8., 24., 40.],
[ 9., 25., 41.7,
(3 33, 34, 351, 0. 26, 427
/ [36, 37, 38, 349], [11., 27., 43.7,
[40, 41, 42, 431, [(12., 28., 44,7,
p— o [44) 45. 48, 471911 [13., 29.. 45.7,
[(14., 30,, 46.],
T8 718 HE M2 TS WIMTE £40HE 158 BEC) [15.. 31., 47.11)

me— 573
i : P77,

=  — [ (




' -SECTION 07 gd = MZAA(CNN)

7.4.2 im2col 2 H|0|E M7{st7|

gp

I8 T-10 da TUE JE xicl GMl 253 TES MES 138 T2Hsin, im2col0] HAHE diolset 3= a3
ALECE opERfe R &3 H0IEE S #reshape) Ect

8 Clo|E|(2:H)

> > HHISRE AlESHs ©eEld



' 'SECTION 07 343 HEY(CNN) e XN 5XTop  3X3x3 5
7.4.3 $9E A5 2 =90 vy

im2col(input_data, filter_h, filter w_ stride=1_ pad=a)

» input_data — (CIOE <= &g <= #O0L, LH|)2| 4ZFH HHE 0IRE 2 ol
» fittar_h - TE2| 0|

= fittar_w = HE{ 2| L]

» stridg — A E3l|C

* pad - Mg

v
J
\Wa i

]
-
Ny

import syz o= ch07/im2coltest.py r]

sys.path, append|os pardir)
from common util import imz2col

x1 = np.random rand{1_3_ 7 7) # (Hojo = a4 = #0, 4H])
coll = im2col(x1 5 5 stride=1_pad=8)

print(col1.shape) # TE-ZI
N

¥2 = np_random rand{18 3 7 7} # ciojo 187
colz = im2col(x2 5, S5 stride=1_ pad=8)
print(col2._shape) # (98, 75)

W

%

X4 70 U¥H

> > HHISRE AlESHs ©eEld



SECTION 07 gd& MZEAU(CNN)

IIM

.43 gdda AS &5t common/layer.py

clazs Convolution:
def __init__(self, W, b, stride=1, pad=0):
se|f W I
zse|f. b b
zse|f.stride = stride
sel|f.pad = pad

# =2 OolE (backward Al AFE)
self.x = MHone

sel|lf.col = Mone

se|lf.col_M = MNone

# Jtsxlet HE DA 2] 2| 27
self . di Mone
self . db Mone

def forward(self, x):
FM, C, FH, FW = self W, shape
M, C, H,L W = x.shape

out_h =1 + int{{H + 2*self.pad - FH) / self . stride)
out_w =1 + int{{W + 2»self . pad - FW) / self . stride)
col = imZcol(x, FH, FW, self.stride, self.pad)
COl_ll'l'nl = SE'f.W.rEShEDE(FN, _1)T } FNOl £§E|%7|O" |—|'|:|'|X|E %O"A‘I A-IE_I'II
out = np.dot{col, col_W) + self.b )
out = out.reshapelMN, out_h, out_w, —-1).transpose(d, 3, 1, 2) I8 7-20 'E8H0I2] franspose BFeE S M BE0l | UEARER 29 =MS BT
self.x = %
self.col = col
self.col_W = col _W
8a (N, HOW Q) (N, C. H,
return out —~— — DJME_%#
o 0,1.23 0,3.1.2

> > HHISRE AlESHs ©eEld
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SECTION 07 d& 4FdU(CNN) common/layer.py

IIM

@ 7-21 S diolei 22 58 92 EHii2x2 229 o)

. o clazs Pooling:
71.4.4 E2& AZS 73ist7| Jef __init__(self, pool_h, pool_w, stride=1, pad=0):
Zajo| 4L xHu1zxo|saa| self.pool_h = pool_h
sel|f . pool_w = pool_

self.stride stride

12001 sel|f.pad = pad
30002 4
Tol3 15 e 1 self.x = Mone
alz 112 e 6 : self.ara_max = MNone
. 6 -
T3 03 . 4 3 0lalz def forwardiself, x):
3, : M, C, Hb W = ».zshape
012 4], X 6543 o out_h = int{1 + (H - self.pool_h) / self.stride)
o] al2f " 3 0l23 out_w = int{1 + (W - self.pool_w) / self. stride)
3j2/01 1031 col = imdcol{x, self. pool_h, self.pool_w, self.stride, self. pad)
42|01 col = col.reshape(-1, self.pool_h*self . pool_w)
ee co|gf — b
102 0 4 , T . . =
@ 3 arg_max = np.argamaxicol, axis=1) Pooling size 2T ot S0 JA=F.
3|0j42 ®out = np.maxicol, axis=1)_
62 4 5 out = out.reshape(N, out_h., out_w, C).transpose(0Q, 3, 1, 2)

self.x = %

¥ o HE =2 HA= a
J@ 7-22 &8 HE 8L &5 B8 HE 990 71 2 Has BoR 14| SE|'F.E[FQ_ITIE[)< = arg_max

10201 Fl
ilolz2la 4
ToTals ) return out
%ﬁ]%hsz 42|01 4 !
1|23 |J34 Eak, | 3 [? 42 Hoigt 4 reshape 4.6 6
nE 2402 — [B]|5]4]3] — |6 — [2[4]5
104 2L5 J|0(23 3 34
32]0]1 &2(01 4 &8 ololg EECBI 7:”0 :I'LO:I [:I-EI 7- 22]9|'l75|-0| El’Egl k” E'—I-ZHE Il—l%ljol—l-l:r'
o Glof  [4 1. 912 O|O|E| 2 ISt
il0l4 2 4 o
60245 6 2. M X[CHZFE B}
3. HH mYo 2 HHICt
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' -SECTION 07 g &= MZAL(CNN)

7.5 CNN #%i5}7|
28 7-23 e CNNoj yess 74

.E o Rl Pl i AT v Aalbl Aiffiri Soltman

W1, b1 W2, b2 W3, b3

227 |2t O H*t ol

eeinput_dim - 22 60| E(X{'d 2=, &0}, 4 H])2| X}

.ecONV_param - 248 H 50| sto|mutata| (S 2)). Y AML2|e] 7| Chgat 2ot
-filter_ num - 2§ =
-filter_size - 25 37|
-stride - 2AEZI0|E
-pad -I{ &

~ohidden_size - 245 (2T HE)2| 72
esOUtpUt_size %E:l%(%@gg)g SIS
«eWeight_init_std - £7|3} {o| 7+EX| = A}




SECTION 07 gd& MZEAU(CNN)

7.5 CNN Ttoist7|

imeort sys, oS

svs.path.appendlos.pardir) f#f F2 ClEHL WEE MMAHE &

import pickle

import numpy 8s np

from collections import OrderedDict

from common. lavers import

from common.gradient import numerical _gradient

clazs simpleConvMet:

"hhh =S g g MEE

cony — relu — pool — affine — relu — affine - softmax

Farameters

input_size ¢ &= 22| (MNIST2] & £ 704)

hidden_size list ¢ 2 EHE28 7H =2 H= 2l &E

output_size @ = I (MNISTLl =4 10)

activation : 43 &F - 'relu’ =2 'sigmoid’

weight_init_std @ 2tExl2] B=EA A E (e.g. 0.01)
‘relu'lt 'he'Z2 AlEotE 'He =dldt'22 28
'sigmoid'Lt 'wavier'® A HSIEH

det __init__(self, input_dim=01, 28, 28),

IIM

ch07/simple_convnet.py

o

UE= A

©® conv_param - 285 AE Q| sto|mut2t0l e (S M H2]). A H 22| 7|= Ct31F 2Lt
-filter_num - 2H &

-filter_size - 2 & 37|

- stride - AE2}0|E

_pad_

conv_param=1 ' filter_num':30, 'filter_size':5,

Hidden_size=100, output_size=10, weight_init_std=0.01):

filter_num = conv_paraml[ 'filter_num']
filter_size = conv_param['filter_size']
filter_pad = conv_param[ 'pad']
filter_stride = conv_param['stride']
input_size = input_dim[1]

conv_output size = (input_size — filter_size + 2xfilter_pad) 7 filter_stride + 1
int(filter_num * (conv_output_size/2) * {conv_output_size/2))

pool _output_size

g

(100, 100, 10012

Havier ®<lgf' =22 43

"pad' 0,

‘stride' 117},




SECTION 07 gd& MZEAU(CNN)

7.5 CNN Ttoist7|

;p

ch07/simple_convnet.py

# It=EA =2 =t
self.params = {}
self. params[ W1 ']

weight_init_std = #

ne.random. randn(filter_num, input_dim[0], filter_size, filter_size)
ne.zeros(filter_num) —
weight_init_std = #
ne.random. randn{pool _output_size, hidden_size)
ne.zerosthidden_size)

weight_init_std = #
np.random.randn(hidden_size, output_size)
ne.zeros{output_size)

self.params['b1"']
self.params[ W2 ']

self.params[ ' b2 ']
self.params[ ' W3 "]

self.params[ b3 ']

toAHE A

sel|f, lavers = deredDic
self.lavers['Convl '] = Convolution(self.params['W1'], self.params['b1'],

conv_paraml 'stride']l, conv_param[ 'pad'])
Reluf)

Poolinalpool_h=2., pool_w=2, stride=2)

self. lavers[ 'Affinel'] = &ffine(self params['W2'], self.params['b2'])
self. lavers['Relu?'] Relul)

self. lavers['Affine?'] = Affinelself . params['W3'], self.params['b3'])

self. lavers['Relul']
self. lavers['Pool1']

=1

self.last_laver = SoftmaxWithloss()

—
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ch07/simple_convnet.py

def predict(self, =)

for laver in self. layvers.values():

x = laver.forward(x)
return x
def loss(self, x, t):
||||||_i_..’£ ﬁ‘:ll‘#g ?E‘_l-lz-l-
Farameters
<o oolg
t o HE Yoeg

v = self . predictix)

return self. last_laver . forward(y,

SECTION 07 gd& MZEAY(CNN)
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ch07/simple_convnet.py

def aradient(self, x, t):

"D EDNE FEIOHERE AIIY)

Farameters def save_params(self, file_name="params.pkl"):

__________ params = 1}

% %’i '3|'D|E for kev, val in self.params.items():

bt 2 dolE params[key] = wval

. with open(file_name, 'wh') asz f:

neturns pickle. dump(params. f)

o = S = CtE A (At .

o ‘zg'rg;d'sl[ﬁ,?l.jg ;r;jgftb%g?mtlong[ﬂig_'},ur%;-q def Igad_paramsgself, file_name="params.pkl"):
oradsl'b1']. grads['b2']. . 2t Eo| mar with open(file_name, 'rb') as f:

W ) oo T = == params = pickle. load({f)

# forward for key, val in params.items():

self. loss(x, +) self. params[key] = wval

¥ backward for i, key in enumerate(['Conv1', "Affinel’, "Affine2']):

dout = 1 self. laverslkey] W = self.params['W' + str{i+1)]

dout = self.last_laver . backward(dout) self.layers[key] .b = self.params['b’ + str(i+1)]

lavers = |ist(self. lavers. values())

lavers . reverse( )
for laver in lavers:
dout = laver.backward(dout)

# 20 AE
grads = {}
grads['W1'], grads['b1"]
grads['W2'], grads['b2"']
grads['W3'], grads['b3"]

self.lavers['Convl'] . dW, self.lavers[ 'Convl'].db
self. lavers['Affinel'] . dW, self.lavers[ '&ffinel'] . db
self. lavers['&ffine?'] . dW, self.lavers['&ffine?'] . db

return grads
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7.5 CNN Ttoist7|

ch07/train_convnet.py

0.6

accuracy

o
F'S
L

0.2 1

—&— train
—— test

0.0 T T T T T T T T
0.0 2.5 5.0 7.5 10.0 12.5 15.0 17.5

epochs

test_a;cfﬂ.ﬁﬂ?_

Import numpy as np

import matplotlib.pyplot as plt

from dataset . mnist import load_mnist
from simple_convnet import SimpleConviet
from common . trainer import Trainer

# aloe &2
(x_train, t_train), {(x_test, t_test) = load_mnist(flatten=Falze)
#oAIZHD 22 22 AF OOHE =° |Ef

t_train = x_trainl: EDDD] ain[:5000]

#x_train, = t_tr
t_test = w_test[:1000], est[:1000]

fx_test,
max_epochs = 20
SimpleConvNet( input_dim=(1,28,28),

conv_param = {'filter_num': 30,
hidden_size=100, output_size=10,

network

t_train, x_test, t_test,
epochs=max_epochs, mini_batch_size=100,
optimizer="Adam', optimizer_param={'Ir"'
evaluate_sample_num_per_epoch=1000)

trainer = Trainerinetwork, x_train.

0,001},
trainer.train()

O+ 2=
network . save_params("params . gk ")
print("Saved Metwork Parameters!")

# 3= 322

markers = {'train': 'o', 'test': 's'}
¥ = np.arangelmax_spochs)
plt.plot(x, trainer train_acc_list,
plt.plot(x, trainer.test_acc_list,
plt.xlabel("epochs")
plt.yvlabel("accuracy”)

lakel="train'
label="test",

marker="ao",
marker='s",

plt.vlim(0, 1.0)
plt. legend( loc="lower right')
plt.show()

"filter_size':
weight_init_std=0.01)

5, 'pad':t 0, 'stride'r 1},

. markewvery=2)
markevery=2)
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7.6.1 181 B9| 7k5X| Al Z2tst7|

import numpey as ne
import matplotlib.pyplot as plt
from simple_convnet import SimpleConviNet

def filter_show(filters, nx=8, margin=3, scale=10):

c. . httes:/Afaist aithub.com/aidiary/07d530d508011832012#T 1 le—draw_weiaht-pyv

FM, C, FH, FW = filters.shape
ny = intlnp.cei [(FN / nx)) (30,1,5,5)

fig = plt.figurel)
fig.subplots_adiust{left=0, right=1, bottom=0, top=1. hspace=0.05, wspace=0,03)

for i in range(FN)
= fig.add_subplotiny, nx, i+1, wticks=[], vticks=[])
ax. imshow(filters[i, 0], cmap=plt.cm.grav_r, interpolation='nearest')

plt.show()

ork = SimpleConvNet()
SY(HE)Y =22 =2 MHEF
er_show(network . params['W1'])
P =l JF =T

ark. load_params("params . pkl“)
er_show(network .params['W1'])
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7.7.1 LeNet

:I-EI 7-27 LeNet°| __I'L S [20]

. Ca: 1. maps 16@71 M0
INPUT W&m maps S4: 1. maps 16@5x5

A7x37 52 f maps G5 | .
6@ 14x14 I T30 78 layer QUTPUT

I
- Full conection | Gaussian connections.
Convalutions Subsampling Convalutions  Subsampling Full eonnectan




gp

' -SECTION 07 ed& MZAU(CNN)

[.7.2 AlexNet

O@ 7-28 AloxMets) Lae

55
57 ymy
15 '\ 13 jkil- ’
i ot 5
r 3 == ] - 3 . e ‘H
234 IQ il I Sl P 3{1 13 3tl-' 5 13 ?[] 13
k| " 1
' 154 FTE] 256 A0AG 4096
55 p ——
' \ e 20 &E
24 -~
Tam
3
LeNet D} H| W of M X2 Q1201230 LHE AlexNet2 HRHY EE2 Lo
Jleg 2 g&2 et
[ L 122 AN

oo 23 T2 ReLUE 0| &3lLC},

.. LRNLocaI Response Normallzatlonol El- = %AI{ I-I -HL§|-% IAl_é_l-E 7:”
= 0|8 35tC},

.._.=.0f° = AFEetCt.




